1.

e 293 22 AHElE ABCD 9 4

°o]=?

@ 50cm? @ 51 cm?

@ 53 cm? ® 54 cm?




oh-& T199] 4 mABCD &

2t § o] Zol7} 2 2 p
ol HAZHFo|TL AP =BQ =CR=DS = 1 S
°IeF. A3 PQRS € WOl .S
P
Q
B C
@ 5-3\/5 @ 4_\/3 @ 4_2\/§

@ 5-+3 ® 2- 3



o8

Al el golt

3.

@ a+b>colth



4.

T 1™} o] HAE ABCD 9] Wite]

% 4 Pk 9lek AP =

5cm, BP = 6cm, CP =4cm ¢ o, PD ©] Zo|& +sH?

@ 3v2cm
@ 3V3cem

A N
SCm\__P
/1
//|
- 4‘
6cm o
g~
@ V5cem
® 4v5cm

D

® 5v2cm



5. AEAW 9] T A A(-3, 4), B, x) Aole] A217 vE3 2 uf, x
o ghe B 57

O 2 @ 3 ® 4 @ 5 ® 6



HEHH o] F - AL, 4),B(5, 2) & x
% ¢]9] ¢J2]o] A P o ti5te] AP +BP 9
| &=gkS Hota?

O Vi3 @ 2 ® 3

@ 26 ® 213

S

™

DNO

Sy

NO




7. the IYIH BC & @ Wog s A g
Fotolet.

Sk o



8. t Z1#IA PH ¢ ZolE 5ozt

D 52 @ 62 ® 72 @ 82 B 942



@ 120 cm?

@ 49 cm?

@ 150 cm?

@ 144 cm?

® 84cm?



10. o2 1994 oABCD & A oltt, A -1~ A5cm_
o] & F29] Wol7t 289 cm? & o, x 9

are Fokofet,

SEE en



‘D

S~-5--"C>=3-

B

@ 2Vi5 @ 2Vis @ 8 ® 217

17

@



x 7k 5 B 2 Aegolx, 42RO Al Mol olk6, x4 2, x+ 4

12.

sholat.

23

=x o g

5t

=
=

J2Hgo]



13. t& 1™ oABCDollA ACLBD ¥ ©f, BP ¢] dol=?

D lcm @ 2cm ® 3cm @ 4cm ® 5cm



14. & 18L& /A =90° ¢l
9SS " Ao}, A3

o N

2ol Holg 1=w?

D 10+v3cm? @ 12+3cm? ® 143cm?
@ 16 V3cm? ® 18 V3cm?

21447k ABC o] A 9 (502 she



15. #4219 ABCD o4 BF £ 3 oz
stel H9lEY %214 C 7HAD $19 4 E
o A# k. ol ©, ABEF €] Hol=?

@ 25cm? @ 35cm?

@ 45cm? ® 50cm?




16. the 28y e ATH]E ABCD oA A = /B = 90°, AD = 10cm,
BC = 22cm, DC = 13cm 4 ®f, BD €] Zo]& a}ofzt.

~10cm~-_ D
\13crr\1

N
N
—

A

B'<

-~

ral
- - - w
-=-22cm--—~



17.

oL
('
lo
n

753

@ 2543

o7} 5

o

=
o:

W)

s

Ho
N
ol

1d 2] Wole?

@ 75V3
® 255




18. o= Z1¥olA BD 9 2olE 5tofet.

D 6V3

@ 33

® 32

457

@ 6 ® 62



19. o5 234 F H PG5, 1), Q(-3, -2) yA
Atol o] A=l =7
______ PG,
—l—HG—H—i—H»
| )| T
Q -4
(-8,-2)

@ V5 @ 5 ® V13 @ 65 ® 11






21. o2 I™ofA AABC 9] Ho|=?

@ 4v3 @ 8 ® 63
@ 73 ® 8V3




22. & O3 ZoJ]AB = 4em ©]1
/ACB =30°, /DBC =45° <4 o, BD
o] 7o) Fatofat,

~

[mo R

45°

30




23.

I3t ol /B = 60° ©]1,

o
9 2
s
—

9

D 93 cm?
@ 27V3cm?
® 4043 cm?

@ 18 \/§cm2
@ 30V3cm?




24. e Y] AAZH ABCD olH AB =9, . __19-__

AD = 12 o o, A A oA izt BD
72 9] 78] AH & Fstolet. (A2 ZJT
) :

D 7.0 @ 7.1 ® 7.2 @ 74 ® 7.6



st

=2

T

94



